IMCO

510 East Arrow Hwy
San Dimas, CA 91773
(800) 899-8058
(909) 592-6162
Fax: (909) 592 6052
email: info@imcomarine.com
Www.imcomarine.com

Nut welded
to stud

Description Part Number
1 Engine Mount (Black) 04-1301
Engine Mount (Polished) 04-1302
Stringer Mount (Black) 04-1294
Stringer Mount (Polished) 04-1296

3/4-16 Full Lock Nut 08-081306001

3/4" Flat Washer 08-121300001

Engine Mount Stud 04-6321

3/4-16 Thin Nut 08-191306001

_\N_\QN_\_\_\_\E

NO|A(R|WININ| -

3/4" Internal Tooth Lock Washer 08-111300001




	Sheet1
	Drawing View1


